. VCE & PDF https://www.pass4itsure.com/c_ts4co_2020.html
g 2024 Latest passditsure C_TS4CO_2020 PDF and VCE dumps Download

PassditSure.com

C _TS4CO 2020°%As

SAP Certified Application Associate - SAP S/4HANA for Management
Accounting (SAP S/4HANA 2020)

Pass SAP C_TS4CO_2020 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/c_ts4co_2020.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SATISFACTION GUARANTEEy
Satisfied Customers

Q00O

C_TS4CO_2020 VCE Dumps | C_TS4CO_2020 Exam Questions | C_TS4CO_2020 Braindumps 1/3


https://www.pass4itsure.com/c_ts4co_2020.html
https://www.pass4itsure.com/c_ts4co_2020.html
https://www.pass4itsure.com/c_ts4co_2020.html

VCE & PDF https://www.pass4itsure.com/c_ts4co_2020.html
a 2024 Latest passditsure C_TS4CO_2020 PDF and VCE dumps Download
_ PassditSure.com

QUESTION 1

You are running an indirect activity allocation. What do you post to the sender and receiver?
A. You post only cost to both the sender and receiver.

B. You post quantity and cost to both the sender and receiver.

C. You post both quantity and cost to the sender, and cost only to the receiver.

D. You post both quantity and cost to the receiver, and cost only to the sender.

Correct Answer: B

QUESTION 2

You want to run an assessment cycle in Profitability Analysis to allocate cost center costs during period-end closing for
your organization. Which of the following objects is part of the assessment cycle?

A. Cycle iteration

B. Tracing factor

C. Sender cost objects
D. Template

Correct Answer: B

QUESTION 3

Which scenarios can be covered by one single costing run? Note: There are 2 correct answers to this question.
A. Inventory cost estimate of all the materials in one plant

B. Standard cost estimate of all the materials in all plants of a controlling area

C. Current cost estimate of all the materials in all controlling area

D. Product cost collector cost estimate in one plant

Correct Answer: AD

QUESTION 4
You are considering using commitment management with internal orders. What do you need to do in the configuration?

A. Activate commitment management in both the controlling area and the order type.
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B. Activate commitment management in the controlling area, the order type, and in individual internal order master
data.

C. Activate commitment management in both the version and the order type.
D. Activate commitment management only in the controlling area.

Correct Answer: A

QUESTION 5

What are some of the unique attributes of an assessment cycle in Controlling? Note: There are 2 correct answers to this
question.

A. They use a secondary cost element during transfer.
B. They transfer only primary costs.

C. They transfer primary and secondary costs.

D. They use the original cost element during transfer

Correct Answer: AC
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